
S(V,V)/SA(FRESH,CLSN+1) 

 

{SA,AF,A}(INV,V)/A(SVSN+1,CLSN) 
{A,AF}(INV,INV)/R(LAS,ZERO) 
{F,S}(INV,_)/A(SVSN+1,CLSN) 

SA(_,INV)/R(LAS,ZERO) 

AR(V,V)/timeout 
R(V,_)/timeout 

S(V,_)/RA(ZERO,CLSN+1) 
SA(V,V)/R(SVSN+1,ZERO) 

{A,AF}(INV,_)/A(SVSN+1,CLSN) 
SA(_,_)/A(SVSN+1,CLSN) 

A(V,V)/timeout 

AF(V,V)/A(SVSN+1,CLSN+1) 

AF(V,V)/A(SVSN+1,CLSN+1) 

AR(V,V)/timeout 
R(V,_)/timeout 

{A,AF}(INV,_)/A(SVSN+1,CLSN) 
SA(_,_)/A(SVSN+1,CLSN) 

A(V,V)/R(LAS,ZERO) 
AF(V,V)/R(LAS,ZERO) 
SA(V,V)/R(LAS,ZERO) 

AR(V,V)/timeout 
R(V,_)/timeout 


